ASSAM RIFLES TECHNICAL & TRADESMAN RECRUITMENT
WRITEN EXAM

SAMPLE PAPER LEVEL -

The prime numbers between 1 to 100 are /1 & 100 & =1 7%
(A) 20 (B) 22 (C) 25

Q2. Divide Rs 500 in to two parts such th i
at the ratio of one may be to t
mwam#wmmﬁ:wm%mmﬁmzza &

(A) 300,200 (B) 200,300 (C) 230, 270 (D)

Q1.
rast sy 9w B2

(D) 30

he other as 2:3 7/ 500

400, 100
Q3. The excess of thrice a certain number over 11 is 19. The number is:- / fa3r 78T =T =7

AT FIA 9T AT 1 mawam:ms’rmlagmaﬁhmm

(A) 8 (B) 9 (C) 10 (D) 11
Q4. Which of the following is the smallest fraction? T wYeT Wy Fts1 AT B
(A) 1/10 (B) 1/100 (C) 9/1000 (D) 500/10000
Qs. The square root of 4.41 is / 4.41 &1 @3 A g0
E (A) 0.21 (B) +0.21 (C) 2.1 (D) 21

Q6. Compound Interest on Rs 2000 for 3 years at 5% per annum is / 2000 ¥93 9T 3 AT &
fAT 5% arf¥s a1t ax 9 awhgeit =41t fhaer g

(A) Rs 300 (B) Rs 315.25 (C) Rs 325.50 (D) Rs 333.75
Q7. The average of five numbers is 5. The average of first four numbers is 4. The fifth
number is / 9fer 37wt 73 3T 5 g0 9 4 3wt @ 3T 4 g0 grerar 3w aT Ee

(A) 9 (B) 8 (C) 21 (D) 1

Q8. Find the selling price if a fountain pen costing Rs 6.20 is sold at a loss of 10%. / af& s
6.20 TIY F HTITcT T BI3Z+ 97 FHr 10 w%tmgmaﬁamma?mmmmm
(A) Rs 6.92 (B) Rs 5.58 ((®3) Rs 6.00 (D) Rs 5.92

Q9. Two trains start at the same time from 2 stations, X and Y, 900 kms apart and move
towards each other at an average speed of 38 and 22 km per hour respectively. They will meet

after / @Y 27 U &Y §HI 9T &F T2, X 3T Y, S 3madl sraEar 900 fFaiey gpas’ & v
ZHY % avw HAU 38 Y 22 ey 9fa gar i raas IFaR A &3 Sl &1 art &1 Fasy
HHT A€ 3T9H 7 A

(A) 12 hours (B) 13 hours (C) 14 hours (D) 15 hours
Q10. If 20 men can finish a piece of work in 10 days how many persons can finish the same

job in 04 days?/ af 20 3T AT FF T 10 R F 7 T & A 30 A Y 4 AT 7 9@ w1

¥ AT rasy TEH F9E?

(A) 20 (B) 30 (C) 40 (D) 50
Q11. Which of the following is largest? / A RT&T 377 Fa¥ F371 I 80

(A) (3+3+3)° (B) [(3+3)°) (C) (3x3x3)? (D) (9)?

Q12. If cost price of 25 pens is equal to sale price of 20 pens, profit percentage will be / afe
25 A7 HT AT Hed 20 9 F AT JET F quET ST ey wfeaerd ST g

(A) 25% (B) 15% (©) 20% (D) 221/2
Q13. Area of circle is 154 sq cm. Its circumference will be / Tf& g& @1 &1THe 154 st #@feAeT

BET 3EET R @Fasr g




(A) 44cm (B) 48cm (C) 54cm (D) 68cm
Q14. If 36% of pupils in a school are girls and number of boys in school is 816, how many girls
are there in a school? | ot v FHET A 36 uﬁ%mmwﬁﬁg@‘tmﬁmG asH el
=7 e A hae astRanE ?

(A) 816 (B) 810 (©) 464 (D) 459

Q15. LCM of %,:—;and-}aisl-g-o.% A %mmmﬁ;ﬁmm

I ® 5 © = o 5
Q16. The face value of 9 in 5249267 is / 9 T 5249267 ¥ Hfra Hoa FATEX

(A) 1000 ® 9 (C) 9000 (D) 9267

Q17. If 10% of x is the same as 20% of y then x:y is equal to / afx x &7 10 gfaa y & 20
gfarera ¥ SreEl FE Xy Fas SUE '

(A) 1:2 (B) 2:1 (c) 5:1 (D) 10:1
Q18. The square root of 73.96 is / 73.96 T TFIHA A 'O

(A) 8.6 (B) 0.86 (C) 86 (D) None of these
Q19. Convert 144 km/hour in to m/s / 144 mﬁmwmﬁmﬁmm

(A) 40 m/s (B) 30 m/s ©) 10 m/s (D)

15 m/s
Q20. The average

3 of the height of 5 students having height 30, 40, 50, 60, 70 is / 5 faearAdt
=r=7hr 3=$ 30, 40, 50, 60, 70 mﬁmmmm

(A) 40 (B) 50 (C) 55 (D) 45

Q21. What will be 80% of a number whose 200% is 907 / 31 wEX &1 80 wfaera fraar em
fSraer 200 wfaRra 90 &7

(A) 144 (B) 72 (C) 36 (D) None of these
Q22. HCF of 1485 and 4356 is / 1485 3T 4356 FT HgaH FATCA Tohae 80

(A) 189 (B) 89 (C) 99 (D) 83
Q23. %;;1%(’%1} equals to

(A) 1.45 (B) 2.75 (C}y 285 (D) 265

Q24. The cost price of an article which is sold at a loss of 25% for Rs 150 is / U a¥] & 25

wfarerd e A 150 TIA F AT ITAT IHHT AT Hed A T2

(A) Rs 125 (B) Rs 175 (©) Rs 200

(D) Rs 225
Q25. X, Y and Z invested Rs 2400, Rs 3600 and Rs 4800 in a business. Out of profit of Rs

1260, X's share is / X, Y 3R Z 2 =aTaTT 3 2400, 3600 3 4800 a3 a3 fFw| & & 1260

T 3 X & TReaT BFa=r gen?

(A) Rs 280 (B) Rs 420 (C) Rs 560 (D) Rs 140

PART 2 — ENGLISH / HINDI

Q26. Choose the word that is most nearly opposite in meaning to the word clean

(A) pure (B) dirty ) lure (D) corrupt
Q27. OChoose the correct synonym for the word false

(A) inaccurate (B) incorrect (C) untrue (D) defective
Q28. Select the correct synonym for the word rival

(A) friend (B) partner (C) associate (D) opponent
Q29. Select the correct antonym of the word distinct.

(A) opposite (B) different (C) uniform (D) similar

Q30. Nostalgia is:-
(A) anxiety about future (B) feeling of insecurity
<) jonging for a period inpast (D) an allergy to certain foods



Q31.

Q32.

Q33.

Q34.

Q35.

Q36.

Q37.

Q38.

Q39.

Q40.

Q41.

Q42.

The study of history is called
(A) Anthropology (B) Archaeoclogy (C) Ornithology (D) Entomology
A large number of people at an event is called:-

(A) crowd (B) gathering (C) horde (D) melee
Select the correct spelling.

(A) exercise (B) exercize ) exercise (D) exircise
Which of these is not a vowel?

(A) a (B) e (C) 1 (D) X

How many alphabets are there in English language?

(A) 24 (B) 25 (C) 27 (D) 26

Plural of child is:-

(A) childrens (B) child () children (D) children™s
SIS &1 AT s F4ar sl

(A) @Y (8) Trar (C) FEw (D) BHERA
FHEE &1 HAST AEEAT Fea 80

(A) help (B) trust (&)} faith (D) lie

Hindi language consists of how many alphabets?

(A) 20 (B) 16 (©) 36 (D) 52

The police accused him for theft.

(A) with (B) in (C) of (D) no improvement
When | entered the room he was lying ___ bed

(A) by (B) into © with (D) in

The statement at ser no 1 and serial no 6 are fixed. Rearrange P, Q, R and S to form a

meaningful statement.

Q43.

Q4a4.

Q45.

Q46.

Q47.

Q48.

3 Thus it was only after 1858

P To an almost uniform set of precedents

Q Virtually be codified into a set of rules

R This relationship was subjected

S Conventions and usages which could

6. & regulation.

(A QSPR (B) RQSP (©) PRQS (D) RPSQ
Choose the correct synonym for the word alive.

(A) breathing (B) dead (©) defunct (D) inanimate
Sabhi dishyaaon mein vijay prapt karne wale ko kya bolte hain?

(A) Aprajit (B) Baazigar < Digvijay (D) Chandramukhi
She is proud_ her beauty.

(A) at (B) for (C) upto (D) of

When he spoke over the phone, his voice was so __ that | could hardly hear it.

(A) faint (B) dull (©) dim (D) slow

It became clear that strangers were heading into a serious disaster

(A) along (B) towards <) for (D) no improvement

The sentence has been divided into four parts, A,B,C,D. Out of the four parts one is

defective .Select the defective part:-
(a) this pen is better /(b) from your pen /(c) as it writes /(d) quite fluently

Q49.

QS50.

(A) d (B) b (©) c (D) a
If1 you, | would save the money
(A) was (B) were () am (D) have been

Antonym of word active is:-
(A) dull (B) agile <) alert (D) brisk



PART 3 — GENERAL KNOWLEDGE AND GENERAL AWARENESS

Q51. The President of India is:- (R &1 Tseafa &80
(A) Head of the state (21 &7 Hf@an)
(B) The Head of the Govt (FX&R &1 Hf@Am)
(C)  The Head of the State and Govt (&2 3T FIER F H{ZAM)
(D)  None of above (37 & HE AR

Q52. In India The voting age was reduced from 21 years to 18 years in -(TRA & FAqGE H
3H 21 a¥ ¥ geal 18 af &< & A A, fFE a¥ A

(A) 1988 (B) 1989 (C) 1990 (D) 1991

Q53. The Chief Election commissioner of India holds office :- (3IRa & & gAd ITgEFd T
FrdeTd haear aar &)

(A) For Six years (6 1)
(B) During the pleasure of President. (rsgafa & Hrd&Td & zhr=)

(C) For six years or till the age of 85 years whichever is earlier(6 dTel AT 65 ayg &
3T GF, A & o of R g 8 )

(D) For five years or till the age of 60 years whichever is earlier? (5 &Te A1 60 ag &r
TG d, AR A S o ugd g & I)

Q54 Which two states have a common High Court (fpeT 2 TSl F @9 TH & 3=
=g &)

(A) Haryana and Punjab (83301 3 @)

(B) Gujrat and Maharastra (I[SRTd 3 FHERTSY)

(C)  Himachal Pradesh and Uttar Pradesh(feaATae w&er AT 39T R
(D)  Kerala and Tamilnadu(¥R@T 3T afFw=Tg)

Q55. Who was the chairman of constituent assembly of India? (3Ta & AT AT T3 &1
ey i A)

(A) Dr B R Ambedkar (3T &I 3 HASH)
(B)  Dr Rajendra Prasad (ST&X [oig THE)
©) Dr BN Rao (31&eX & T 71d)
(D) Jawaharlal Nehru (STaTgIdTe A6E)
Q56. Vice President holds office for a period of (FuRTSguata & HAHE Rdar iar &)
(A) 3 years (3 §1) (B) 5 years (5 #€T)
((®)) 7 years (7 1) (D) 10 year 10 A1)
Q57. Who was the first Governor General of India? (J¥Rd F JUH T SR FieA A)
(A) C Rajagopalachari( ¥ TeEaTETEa)(B)  Jawaharlal Nehru (STaTeXere AEw)
(C)  Lord Mountbatten(sif§ Ar3gaes) (D)  Sardar Patel (FER 9&)

Q58. Who from the following led the uprising of 1857 in Lucknow ? (=T & O fFEa 1857
FIEY T q@AS A AAcd 3T 1)

(A) Kunwar Singh (a3 &%) (B)  Tantia Tope(arfarat 21)



(C) Rani Laxmibai (3T S&#ams) (D) Hazrat Mahal (853 Hgd)
Q59 Jalliawala Bagh massacre of 1919 occurred at:-(1919 &7 JfSATATAT AT AITATR Hol
9 AT M)
(A) Amritsar (FHTHEI) (B) Nagpur (A13T9Y)
(C) Chandigarh (I8131%) (D) Kolkata (Freahrdr)

Q60. Swaraj is my birth right and | shall have it. Who said it? (FaUst #7 Si+H Ay JO+R &0
IR A 38 & F: IGI| TE FHwer T )

(A) Aurobindo Ghosh(3Rfaa@r =1 )

(B) Mahatma Gandhi (FgTeHT JTTHIT)

(C) Bal GangadharTilak(aTe ramuy &)
(D) Subash Chandra Bose(Ha1? e a1H )

Q61. First World War broke out in the year:- (W9# faea geu fFe &1e 37 ¥ g3 aM)
(A) 1914 (B) 1915 (c) 1918 (D) 1920

Q62. Battle of Plassey (23 Jun, 1757) was fought between:- (SATHY T T (23 57 1757) e
& & A ST 14T AN)

(A) Meer Jafar and Sirajudaulah (3R TSR 3R RARSEler F &@w)
(B) Nawab Sirajudaulah and Britishers(@ara fatsetar 3R swET & @)
(©) Nawab Sirajudaulah and French (Fara fRtSEler 3R wefaal & @)

(D) Meer Jafer and Britishers( #XT STH 3R AT & =)

Q63. Nagasaki and Hiroshima which witnessed the dropping of nuclear bombs in 1945 are in:-
(FrTATHT M RBIANAT FTER T 1945 RA] @ FTRA 31T F, gl ] B g0-

(A) Korea (@1fam) (B) China (ITg=T)
(C) Japan (SAT9Te) (D) Singapore (o)
Q64. Of the following Ravi crop is:- (@ & & (@ sTd &)
(A) Gram (=) (B) Ground Nut (FaTselT)
©) Cotton (91H) (D) Jute (9TH=)
Q65. The largest producer of coffee in the world is ( T@%a & HIHr &1 FIH F37 ITEH &Y
(A) Brazil (FTSe) (B) Sri Lanka (2 &&1)
((®)) India (HA) (D) Myanmar(FT8R)

Q66. Which of the following countries has the highest percentage of land under
cultivation?(fH & T 221 F arH HfA &1 3O gfaera FN & e @6 & Srar Srar &9)

(A) USA (Juam) (B)  India (37R)
(C) China (am@=m) (D) Canada (F=T3T)
Q67. Alpaca is an animal found in the:- (91T Ush AT g0A FHal 91AT SATAT &)
(A) Deserts (H3E0a H )
(B) Polar regions (Yd1a ST #)
(©) Equatorial regions (3FEANA 1T #)
(D) Mediterranean regions (H3gaOATHTHT A)
Q68. International Date Line lies on:-(378X JEA0T 3T-AT3 Hal I3l &)
(A) 180 degree EW Meridian (180 B3 qd-a¥as ANEBI=)
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(8) 90 degree East Meridian(90 f2afr q& ARRBz=)
(C) 90 degree west Meridian (90 23ff af¥as ARBT=)
(D) Greenwich Meridian (F&afa= ARET=)

Q69. What is the percentage of the total work force employed in agriculture sector in India?
(TR Y T FrE-ATFA 7 e ferera Y HI &4 7 A = I 7)

(A) About 50%  (THIT 50%) (B) About 56% (STITHT 56%)
(C) About 60% (S9T33T 60%) (D) About 64% (F1ITHIT 64%)

Q70. The First Five Year plan was launched in India in the year :- (3Rd & 99H gEaydiT AFAT

T

(A) 1947 (8) 1951 (C) 1948 (D) 1952
Q71. Which one of the following is a basic industry? (%=1 3 & &te &1 gAY 3@ 80)
(A) Cotton Textiles(WTEY a&T) (B) Iron and Steel(JTgT 31X 3¥4TA)

(C) Food-processing(@ed WiAfaw ) (D) Petro-chemicals (JE1-HTAEH)

Q72. Which of the following is not a part of national income?(fA+1 & & =t ¥r afSge HT &1
REar A8ED

(A) Wages and salaries (B) Proﬁts(ﬂﬂm)

(C) Rent (f&RTam) (D) Interest on national deb{(TETT &3 9 &A1)
Q73. What is the future fuel?(Hfasa &1 $u=T 41 80)

(A) Ethanol (TW=ATH) (B) Hydrogen (813303+)

(C) Methane (fA9=) (D) Natural Gases (WShicels JTH)
Q74. The color of a star depends on its :- (GRT & 3T fFaE 9T A3 T &)

(A) Surface temperature (UTAATT dT9HTH) (B) radius (F==am)

©) Distance from the sun(q}? J {ﬁ) (D) Density (9«7c9)

Q75. Average human temperature is :- (ATHH AlSd d9ATT ra=T SIar &y
(A) 40.5 degree centigrade(40.5 33t #&A3)
(B) 36.9 degree centigrade(36.9 33t #&aIs)
(©) 98.4 degree centigrade (98.4 33y d&1A3)
(D) 82.4 degree centigrade ( 82.4 f23ff #&ars)

PART 4 — GENERAL INTELLIGENCE AND REAS

Q76. If MADRAS is coded as NBESBT, how is BOMBAY coded in that code. / 37k MADRAS
Y Fr2= FTH NBESBT f@@r AT ar BOMBAY &I 3H 13 H &Y fa@r S

(A) CPNCBX (B) CPNCBZ (©) cQocCBZ (D) None of these
Q77. Choose the odd one out. / 37 & & ST HEATATAS gBH Io.
(A) Lion (B) Bear (©) Tiger (D) Leopard

Q78. Which one will replace the question mark? / 3 & & W2 =g &1 591§ F41 AT

21Y31 39 Y% 16Y 83



52 85 2
(A) 92 B) 72 (C) 62 (D) 99
Q79. Arrange the words given below in meaningful sequence. / I 2 71T =2 Fr A=
3o | FINT.
= Key 2 Door 3. Lock 4. Room 5. Switch
(A) 5,1,2,4,3 (B) 4,2,1,5,3 (C) 1, 2,3,4.5 (D) 1. 2.3.5.4

Q80. Look at the series: 2, 1, %,
3 SATUBIETAT & il ET HTTIT.

B

what number should come next./ $H YWdT T &

A 3 ®) © 32 © =

Q81. Which word does not belong with the others? / &lsT |T s gEY =T A FTalT 780D

@ |

(A) Parsley (B) Basil (C) Brinjal (D) Mayonnaise
Q82. B,CD, , BCD4, BsCD, BCgD. Fill in the blank / &TelT TUTe X

(A) B.C.D (B) BC.D © B.C3D (D) BCD,
Q.83. Mechanic: Garage :: Professor : ?

(A) Shop (B) College (C) Station (D) Hospital

Q84. Choose the word that is essential part of the underlined word. / 3 =& & =X ST
Y@Era s &1 I fR=ar g

Book

(A) Fiction (B) Pages (C) Pictures (D) Learning
Q85. The total of the ages of Amar, Akbar and Anthony is 80 years. What was the total of their
age three years ago? / 3131 Amar, Akbar and Anthony T 3HT & T SATS 80 AT 8ET A7 AT 98
3T IHT FT TS Fa=A1 @T a9

(A) 71 (B) 72 (C) 74 (D) 77
Q86. Pointing at the photograph of a boy suresh said “he is the son of the only son of my
mother”. How is suresh related to that boy? / &5% T AT AT aI® SUART HIA gw YT ST Hr
g AN AT F SHelad AC &1 AT 80 Suresh &1 3H TS A Fa1 Rar a0

(A) Brother (B) Uncle (C) Cousin (D) Father
Q87. Fan: Wings:: Wheels: 4
(A) Round (B) Moves (C) Spokes (D) Air

Q88. Choose the figure, which is different from the rest. / 5= & =AY HTHTaAT 7 J i A
I ST §F F ST 81

| —| |
. - 2 = 1
(A) 1 (B) 2 (©) 3 (D) 4

Q89. If SPIDER is coded as PSDIRE, how is COMMON coded in that code. / 33317 SPIDER T
FHIST FHIH PSDIRE f&@T AT ar COMMON &Y 39 13 & 53 fa@r Sreem.

(A) OCOMMO (B) OCMMNO (C) OCMOMN (D) OCMMON
Q90. Choose the odd one out. / 3 H { ST IFHATATAS gBA T |

(A) Bus (B) Truck (C) Cycle (D) Scooter
Q91. Which one will replace the question mark? / 37 & & 92T =g &Hr S8 FA7 3TA.




(A) 41 (B) 64 (C) 35 (D) 61

Q92. Look at the series: V, VIII, X1, XIV, ___, XX what number should come next. / $8 J@ar
&I &W 3R TATCBETST e Fled [T HTT,
(A) X (B) XXl (C) XV (D) Xvii
Q93. Which word does not belong with the others? / Hla | eg guY T ¥ wERE FA0E0
(A) Inch (B) Ounce (C) Centimeter (D) Yard
Q94. Ocean: water :: Glacier:____ ?
(A)  Mountain (B) Cave (C) Refrigerator (D) Ice

Q95. Which word does not belong with the others? / &l | g gt = ¥ wEiRE A
&0

(A)  Triangle (B) Circle (C) Oval (D)  Sphere
Q96  Choose the pair, which is different in relation. / 38 Sg! & g St aifat & T A

(A)  Petrol : Car (B) Ink:Pen

(C) Garbage : Dustbin (D) Lead: Pencil

Q97 Introducing a boy, a girl said, “he is son of daughter of the father of my uncle”. How is
boy related to the girl. / T T3 T IRTH &I §T 5T ell T AV el o A i A&y 7 der

BN TAUHESS &1 o5 ¥ F1 fearzn

(A)  Brother (B)  Nephew (C) Uncle (D) Sonin law
Q98. QAR, RAS, SAT, TAU, ,
(A) UAV (B) UAT (C) TAS (D) TAT

Q99. Tanya is older than Eric/ Tanya Eric ¥ ¥2Y g0
Cliff is older than Tanya / Cliff Tanya ¥ &3T g0
Eric is older than Cliff / Eric Cliff & @37 &0

If first two statement are true, then third statement is? 39X Jgel & ST JeT T AT
a7 1 80

(A)  True (B) False (C)  Uncertain
Q100. Choose the number which will come next in series. / 38 YT 7 HTeT 3E Hiel AT
k|

1W4.21,32 .

(A) 33 (B) 35 (C) 38 (D) 37



